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Paper - '1.6 : FINANCIAL MARKETS aUO SEHVTGES

SECTION * A
Answer any seven.suhiquestions. Each ggestion carries twa marks.

1. a) Define factoring.

'i

c) Define credit rating.

d) What is the role af Asset Management in a Mutual fund ?

e) Name any four indices of lndian stock market. ,

g) Differentiate between commercial paper and certificate of deposit.

h) What is bank rate ? - 
, ,,

i) .Name lhe regulatary bodies lor Indian fihancial mark*ts and institutions.

j) Whatis venture capital ? '-'

SECTION - B

Answer any four questions. Each questlon,carries 5 marks,

2. Explain the structure of financial system.

3. What are the functions of Rnt t

:{}'.', f.h, t']s l6 'sy-n nA tlofi !

4. Explain the features of call money market.
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6.Expiainthefeaturesoffutureandoptioncontracts.

7. Explain:the functioh$ of SEBI.

. .',, €EOTION * C

Afi svrer any three questions. Each'q@ion carries' ! 2 marks.

, r 8;llrExplain the trading and settlement proceOure in FOHHX:market'
':::l
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11.Explaintheteaturesoflebsinganutrirepufchasecontracts
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